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1. Test the divisibiliy of the following mumbers by 2:
2 ) 69435 59628
() 789403 ) 857986 o 867314
2. Test the divisibily of the folloviag mubers by 3:
0753 () 20701
) 524781 ) 79124 1 872645
5. Test the divisibillyof the fllowlng numbers by 4
o 618 ) 2314 063712
1) 35056 ) 946126 i 810524
. Te the divisibily of the fllowlng numbers by 5
1065 w) 23500 w0 35208
(1) 723405 ) 124684 1 438750
s sbilty of th following nurmbers by 6
207 W 4652 w 71232
® ™ 251780 () 872535
& Test the dmisibility of the folowing mumbers by 7
526 w117 : ) 2345
co21 ) 1126 ) 25368
7. Test the diistbility of th following nurabers by 5.
1 9364 w 2138 ) 36792
) 901674 ) 136976 () 1790183
& st he iy of e fllwing mers vy o
- iy 3 98712
) 357108 o warsis o Saseee
. Test he ity of e olewing e v 1
o 63215 i 55555
. Tem the iy of e rnllawmg ambers by 11
m 1a7260 o ptods
oo ) 8790322
14 I cach of e olowing ambers. replce - by the smallet mimbes o ake e by
53045 w0 84711
0 soaerr 4 641051
2 pla number
W 20135 () 6702+
) 91067 ) 667841 1) 835486




13- o ach o the following mumbers, relace + by the smallet mumber to make i disible

) 2605 () 3043 () 86472
(1) 467491 ) 172304 ) 9:8071
14, Test the divistbility of:
(1) 10000001 by 1 (1) 19083625 by 11 () 2184563 by 9
(1) 10001001 by 3 () 10203574 by 4 (40 12030621 by 8
15 Wil of e ollowing ae prime mumbers?
) () 137 ) 161 ) 179
217 ) 277 i) 331 (vii) 397
16. Give an example of a number

() which s divisible by 2 but not by 4.
(1) which 15 divistble by 4 but not by 8.
(1) which is divisible by both 2 and 8 but not by 16,
(10) which 15 distsible by both 3 and 6 but not by 18.
17. Wrlte (T) for true and (F) for false agatnst each of the following statensents.
(1) 1 & number Is divisible by 4. It must be divtsible by 8

(1) 1 a number

15 divisible by 8, It must be divisible by 1.

140 mumber dvids thesum of o nmbers xacl. it must. exactly i the -

bers separately.

Ly aber 15 b b b 9 101 st b bl by 50

(¥1) 1 a number fs divtsibl
(1) The sum of

by and 7, 1t must be di
fwo consecutive odd numbe

w A nnmhrr s deh]e by 18 111 vl by bot

3and 5.

rimes. Cons

by 21
et 4 slways it by 1

(vl 12 number divides two numbers exacty, It must divide thelr sum exacily

Give the prime factorization of each of the following numbers:

112

2.18
8. 136 7.252
111224 121323
16. 1197 17. 4641
Note:

EXERCISE 2C
548 4.56 5.90
5420 9. 637 10. 945
13. 8712 14,9317 15. 1035
18. 4335 10. 2007 20. 13915

1) Do all work of Ex 2B in copy number 2

2) No

need to solve Question 17 of Ex 2B.

3) Do all work of Ex 2C in copy number 1




